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Which of the following characteristics of life takes longest time?
(a) HFRACH metabolism
(b) 4K growth
(c) 4 reproduction
(d) itk evolution
(e) KM response

2. JERER TAHHEK ID)EAIZP PR e 7y ARST T S AE /L VS
Lipids are like carbohydrates except that lipids have proportionately

(a) 2k more carbon

(b) /b less oxygen
(c) bk less carbon
d) Z4H more hydrogen

(e) a5 b BX) bothaandb

3. MM ALY R B IR B
Which of the following statements is not true about diffusion?
(a) S 1) 52 SRR S5 ()4 7
The direction of diffusion is controlled by the concentration gradients
(b) 70 TR R/INRE F R A< AT 7
The size of molecules has no effect on the rate of diffusion
(c) I SSETt I R R
Increase in temperature increases the rate of diffusion
(d) 2 PR A0 L 32 S R P ) S 1 W] LAE A 4 i
Pores in the membranes of cells control whether or not some substances can
enter a cell
(e) P HUEHIPIAE AR AR B A4 rh kAT

Diffusion can take place in gases, liquids or solids

4. IR A R 2 R ?
Which of the following has the most energy?
(a) ATP 71 a molecule of ATP
(b) IR H R 7>+ a molecule of phosphoglyceric acid
(c) HhEEwER 1 a molecule of phosphoglyceraldehyde
(d) FIZ%ERES T a molecule of glucose
(e) WA T a molecule of pyruvic acid
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5. DNA 4 F4ifgkig .
DNA molecules determine

(a)

(b)

(c)

(d)

(e)

T A SRR KR Y

the sequence of amino acids in a protein
AT R IR IR AR

the position of an amino acid in a protein
H AT R IR S H

the number of amino acids in a protein

B B TR L & R
the start, end and length of a protein

P b

all of the above

6. ARHIFHPEILIAE .

A sex-linked gene in humans is one that

7.

(2)

(b)

(©)

(d)

(e)

LA 1)
shows up in only one sex

JEAE X R E b

is located on the X chromosome
Ags AT Lok

does not occur in females

HISRAL S LT

is only transmitted from father to son

SR YRVC LR EXSEIREPS

Exs

is related to the primary and second sex characteristics

ANIBEERiE o

Small populations

(a)

(b)

(c)

(d)

(e)

EEA P RE T
have no role in evolution

L5 R IRIRHREA ] L9 R 5 DA 2

have the same relative gene pool as large populations

W AR E RS

are always stable
RV R P A B BT
allow chance to operate in evolution
DAL AR

none of the above
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8. WA BEZYIFEH MR EE L

The group with the greatest number of species is the
(@) =4t  orchids
(b) 4 bacteria
(c) HH  beetles
(d 52K birds
(e) 4 sponges

9. ZR¥El] .
The chlorophyta or green algae .
(a) LUK S A sl )
store their food in the form of carbohydrates
(b) A7 2T 4k 5 I 21 RS 40 e
have cell walls composed of cellulose
(c) Jeli AP S oK
are the precursors of land plants
(d) FHMZzEafb
contain chlorophyll a and b
() VL&
all of the above

10. #MEHAE kT,
Pollination takes place onthe
(a) fEtE  style
(b) {E¥L  receptacle
(c) {£#j anther
(d) MEE ovule
(e) #3k stigma

11 RIRIFFEE TP AR IR E s .
The embryo is first recognizable as a human _ of pregnancy.
(@) ®F—"HW during the first month
(b) F_AHW during the second month
(c) H=/NHW during the third month
(d) ZEVUANHWA  during the fourth month
(e) FHVU/NHJG after the fourth month

Page 3 of 7



Fodep i = BUBIHRCES I E S PR

12. NHMIFA LA G TS5 4 232
Which of the following is not considered a connective tissue?
(a) fi#HE  bone
(b) M blood
(c) ¥ cartilage
(d) F47  ligaments
() WLA  muscles

13. R AR E IR R AL B AR n AR R KR R ?
Which of the following classes of nutrients produce the largest amounts of toxic
compounds when broken down during metabolism?
(a) WKW AEW) carbonhydrates
(b) & fats
(c) [t ez cholesterol
(d &HEHJI proteins
(e) #HiA#HR vitamins

14, N ZUAR Aol 57 A e IR PR AL 2
In which of the following vessels is the blood pressure lowest?
(@) kEHI3NHK arteries in the head
(b) SKESHIZ/NEIlK  arterioles in the head
(c) MU capillaries
(d) SkESHI/NERIK  venules in the head
(e) kA ik veins in the head

15, NRME AT AT R AN ST, BT

Human siliva performs all of the following functions except

(a) VIR lubricating food
(b) MRITEEDHIH A neutralizing food acids
(c) 4 AT controlling bacteria populations

(d) BHIEk KR % PE  hydrolyzing starch to glucose
(e) KEANUKMAMZIK  hydrolyzing proteins to polypeptides
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16. FEARGEH I BLAR A s e e 12 4 g 4.

The secondary response in humoral immunity occurs when memory cells binds to

(2)
(b)
(©)
(d)
(e)

Y%=  particular hormones
FEEMPUK  particular antibodies

Pl antigens
Ao plasma cells
FESEIP 4R particular clones

17. BB s ot R AZ Tk 28 28 8 R A ™ A 1) 2

Which of the following effects could result from activation of the sympathetic

nervous system?

(2)
(b)
(©)
(d)
(e)

PG I decreased blood pressure
PRk % decreased heart rate

FRAGIHALEE % decreased rate of digestion
AE AR constriction of the bronchi
FRARPFIL A% decreased rate of breathing

18. N A AV 97 5 S AR RS B I (X VR B T4 2

What part of the human brain is responsible for detailed coordination of movements?

(a) thalamus
(b)y ML hypothalamus
(c) JEREFIKHTF medulla oblongata and pons
(d) K cerebrum
(e) /P cerebellum
19. WA FEA D fig 2 o

The primary functions of muscles is to

(a)

(b)

(c)

(d)

(e)

ket 1

burn food molecules

Ao fe o pLbk e

convert chemical energy to mechanical energy
R L

hold the skeleton together

7 B R AR YA N 1

generate body heat to maintain homeostasis

P b

all of the above
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20. B KAT G KR I T2 .

The vast majority of living plant species are
(a) EAEY)  cycads
(b) #TFHY  gymnosperms
(c) MFMAEY  dicots
(d) HFHAEY  monocots
(e) H#EMEY)  mosses

21 TR S MBE 2.
Fighting is more likely to occur between

(a) [Al—Hypbb ) B 1

males of the same species
(b) AR B

males of different species
(c) [Al—Hyhbrb i) 2

females of the same species
(d) AR Aeb ) 5 1

females of different species
(e) [l —Hhlef i) B3 1 A0 2

males and females of the same species

22, A NAURMOR ARG T, A ) 28 RV E A de U 1) 2
Under which of the following weather conditions would transpiration be most rapid?
(a) PR rainy weather
(b)  FFIHINE RS hot, humid weather
(c) EHENERRA cold, humid weather
(d) #HITHEEIRS hot, dry weather
(e) RKMHAFAIRS  windy, wet weather
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23, R — ARG R PR T #2532 B I MAKOE 1000, BUAEH 2000 MALY
FEIS, IXDRRR R 2
If an ecosystem has a carrying capacity of 1000 individuals for a given species, and
2000 individuals of that species are present, the population
(a) Jeik F Pl
is at equilibrium
ORPNEN
will decline dramatically
(c) RILE— B 45t
will show a clumped dispersion pattern
(d) RIS A
will show an uniform dispersion pattern
(e) ZZM2HIXEM

will slowly increase

24 A AW EWRET O WRG . R, R
In a hypothetical food chain consisting of grass, grasshoppers, sparrows, and hawks,
the grasshoppers are
(a) I primary consumers
(b) ¥ =¥  primary producers
() XHIH A secondary consumers
(d) A= secondary producers
(e) BEH detritivores

25, T IEEL PR P R R AL
The best cooking oil for deep fried is:
(@) =Kifr Corn oil
(b) “EA1 Soybean oil
() [=&3"1  Ground nut oil
(d) BRI Palm oil
(e) FHAEIHr Olive oil
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